Y (1)

dy/dt(t)

12

10

60 80 100 120 140

1b.

bot.t

I I I I I
60 80 100 120 140

Time

12

10

-05 0.0 0.5 1.0 15

-1.0

-1.5

2a.

°

°

o .

(7Y ° ° °

o0
A

¢:=4)“~.-5_.A__J—"" :—“&&‘:"’J

Aurel.sp
T T T T T
60 80 100 120 140
2b.

Aurel.sp
T T T T T
60 80 100 120 140

Time

12

10

3a.

[ ]
[ ]
[ )
)
L ]
]
%
[ ]
° e
e ° (] .o: ."“‘
LY N 0
o'?' X o) f <
S 8 %D
S.inerm.
T T T T T
60 80 100 120 140
3b.
S.inerm.
T T T T T
60 80 100 120 140

Time




Y (1)

dy/dt(t)

12

10

4a.

°
o0 °
°
»
°
® ° %o
')
® ° oo
.: ® ‘..o 3
e oo @ ¢ o
® °le ° o

o B =0 b=t . =

T.japon.
T T T T T
60 80 100 120 140
4b.
T.japon.
T T T T T
60 80 100 120 140

Time

12

10

5a.

°
°
°
°
° °
°
)
R e
° " o o o0
LIS o

' d »
cra—2,e -.'.-.':!-.Q-ﬂ - ".l'

G.punct.
T T T T T
60 80 100 120 140
5b.

G.punct.
T T T T T
60 80 100 120 140

Time

12

10

6a.

[ ]
[ ]
)
[ ]
»
[ ] [/
»
{ ] T
¢ 0 [ J
[ ] [ o (1)
o 1]
e
0
1 ] o« ©

(] [ )

[ [N ]
»

[ )

o0 » & [ BN )
® o ee [ ] l'
(1) )

L o
ae, e - [ K J
L) - ®e o
..... = ... N %
P.siebo.
T T T T T
60 80 100 120 140
6b.
P.siebo.
T T T T T
60 80 100 120 140
Time




Y(t)

dY/dt(t)

12

10

7a.
[ ]
®
[ ]
[ ]
® ¢
A <
e [ ]
.OO .. ... (1)
L d%.L..-
H.poeci.
T T T T T
60 80 100 120 140
7D.
H.poeci.
T T T T T
60 80 100 120 140

Time

12

10

8a.

12

10

9a.

= H.tenui.

I
60

I I I I
80 100 120 140

8b.

= H.tenui.

I
60

I I I I
80 100 120 140

Time

= P.zonol.

I
60

I I I
80 100 120 140

= P.zonol.

9b.

I
60

80 100 120 140

Time




Y(0)

dy/dt(t)

12

10

10a.

— T.trigo.

60

I I I I
80 100 120 140

10b.

— T.trigo.

I
60

I I I I
80 100 120 140

Time

12

10

-0.5 0.0 0.5 1.0 15

-1.0

-1.5

11a.

- S.pingu.

I
60

I I I I
80 100 120 140

11b.

—— S.pingu.

I
60

I I I I
80 100 120 140

Time

12

10

12a.

— R.ercod.

60

I I I I
80 100 120 140

12h.

— R.ercod.

60

I I I I
80 100 120 140

Time




